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222K said the ruling is; — 991D TART INAY DIBR RNDYT MR VAN
even according to the one who maintains, etc.

OVERVIEW

7o ruled that even according to the 7"» that a 2°272 771 has 77957, nevertheless a
2’27 7"V 771 has no 7757, Our MoIN discusses what is the ruling regarding a 271
0°272; can it be nullified or not.

— 11991 19 ¥ 0292 9NNV 97 RNDYN 919K 99N D990 2992 19209) (x,10 97 MINA
In n1>%» noon most of the texts read; ‘9% »R said; the ruling is; a vow that was

taken publicly can be annulled, however a vow that was taken —
— 11991 19 PN D229 NYT HY

2%29 n¥7 Y has no 79957, This concludes the X0 in Mon NN -
— 11991 Y VY ©192 IV 91T NaYN 127 YIYN 1T RO )]

And according to this X073 it appears that this is the 727, that a 27w 272

2°292 does have 177277 -
— 105393 9113 PIDAY N3 NIV 9919 YANT JNDY 199N 3133 DN INNIYY

And also according to the texts that read, ‘even according to the 7'"» who
maintains (that a 779577 1% ¥° 2°272 1MW 17), ete.’, which indicates that 2 nR was

not issuing a rule on the case of a 2392 972, he was ruling only on a °31 7"y 971 -
— 99119 ¥’ 03937 9210V Y91 NI9N Y PRT D39 NYT DY PO DIPN Yon

Nevertheless since 12°2% ruled by 2%21 7'"'v that 779577 9 PN, it is implicit that he

maintains that a 2’292 971 has 997 -
— 0539 NPT Y 1Y 9999 PN INT

For if 7°nX would maintain that a 7197 Y2 PR 0°272 173, then he will certainly

maintain that a 2929 7"'¥ 7731 has no 7197 -
— 99N )°N ©%292 9r9NT 192 D19 NyT Sya XNavn pwab T80

So why was it necessary for 7»°nX to give a ruling by 2539 7'y that it has no
7797, since even a 2°292 171 has no 7m97°?

mooIn responds to an anticipated difficulty:3

"' 9mmx did not say (in our X07°) here) that the 7277 is that a 77977 1% w° 0°212 171 (as he said in M>n), but rather he
(merely) said that even if we maintain 77977 12 ¥ by a 0°212 173, nevertheless all will agree that by a 227 7"y 11
there is no 71197,
2 oo assumes ([especially] from the words of 77"mK) that 227 7"V is stricter than 2°372. See (however) ‘“Thinking
itover’ # 1.
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— 9919 1991 19 YW 0293 91INT INIY AN MY 1Y 19N PO PYYA XYY
And 2°nX should have told us this not using the syntax of a ruling, but merely
saying, even the one who maintains 777577 %% @ %292 (but 775712 PX 0°27 7'V),

etc. [without mentioning the word &na%7]. The fact that <% X said &n2%7 indicates that both
items (779577 77 w° 0°272 and 7797717 PR 0227 7"'Y) are the view of 0K,

Mmoo anticipates a difficulty:
— 93572 1O 1D NPT smm 294 X2YYN 02392 *hoY 19591127 D2¥5 9INPT 20 HY 9N

Even though the X3 previously said that according to 1'% (who maintains that
the 73A%X is N7 even if she remarried, because) we make her take the vow in
public, and we follow the view of 1'' regarding monetary issues -

— N9IND IPID 1I¥Y *PUIPR RIT IV
And this issue of 0°272 771 is discussing monetary issues regarding the payment
of her 72102 (so it appears that the rule is that a 7757 12 PR 0°272 17) —

Mmoo responds, that there is no difficulty -
- ] [ [ [
SIND 93 1N 29TNRT 919919 XN “9ANT INNY RND 397 912 799 N

For the X3 asked after this solution (that 2°272 7% j317n), ‘this is valid
according to the one who maintains 77577 1% ¥° 0°272 771°, so we can say that the
X3 (when it said 121 7"% Xn°177) was also referring to 1.

mooIn offers an additional proof that only 7757712 PR 2°27 7"V but 7757 Y2 @ 0°272:
— %39 NYT DY DT 29P1) NINNY 903 NAN 29 NIRRT

And from the episode where X' made a certain teacher take a vow 221 7'y
that he would not teach anymore -

3 Let us assume that 7»°»X maintains that a 71577 1 1K 0°272 173; he wants to let us know however that even those

who may disagree with him regarding a 0°212 173, will agree that 7797 1% PR 2°21 7"v. How else could he have

informed us of his view (regarding the others who maintain that a 77971 Y2 w° 0°272 971). NN responds.

* The w"w" amends this to 7.

> The Xm3 previously stated '2°272 712 71177 121 NO*1 "OX 7K 1"7'; indicating that 1" maintains 7797 12 X 0°272 173

(even if presumably the text from "1 °X71 n0°1 are not the words of 1" but the words of a 1¥7n, nevertheless it seems

that this is how we understand 1" [see footnote # 8]).

% moon is responding to an anticipated refutation of his question. The issue of whether a 77997 12 w* 22272 971 or not

is seemingly an issue of MoK (regarding 0°7173) not an issue of WM, so how can we ask that *1°72 173 Xn3%7 (when

seemingly this is not 1’7 but 110°K). Therefore MooN replies that wnoR X7 PIv5.

7 The xm3 was discussing the 71wn (and Xn92) of 77°2va oW1 XKW regarding 1737 vI0Y ¥"X, how can the 171 be

convincing, for he will go to a 051 and be 771 °nx. The X3 answered that 0°272 7°2 3771, on which the 1wpn asked

91 7779719 PR 101 7D XA

¥ mooin indicates that it is possible that this question is not only on the explanation of the mawn (see previous

footnote # 7), but also on 1"7; forcing the X773 to reconsider its previous explanation of 1"3. The np12nn whether a 172

7971 72 W 0°212 or not is dependent of the view of »"1 2" later in the 2,7 m1wn as mentioned in the previous ' Ty,
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— 199719 ¥’ ©%3927 12091 “ynwun
This indicates that X" maintains that a $775;7 % @ 29392 771 and only a 2221 7"y 7
7195712 PR. Therefore since he did not want him to teach anymore he was 2> him 2°27 7"v.

Moo responds to an anticipated difficulty:
— N9 INYIN RDT 0292 NN (x,1p £3nos) DIND 22993 9INT DI’ 299

And 5" who stated in 25702 "29p P79, ‘I take a vow 2°392 not to drink beer -
2991 19 NP XD N991 1D PPN D22937 9207 YHWUN

Indicating that >"1 maintains that a 77577 %% °X 29292 171; we do not accept his
opinion.

SUMMARY
mM»doIN rules that a 779712 ¥° 0°272 7.

THINKING IT OVER

1. mooIn states that if 97X would maintain that a 770737 % PX 0°272 173, then he
would certainly maintain that a 7707 12 X 227 7"y 172" Previously mooin
explained11 that (even) if we maintain 7707 72 1R 2°27 7"V 773, nevertheless if it is
0°2777 INIX NYTA or M¥» 1272 then 7707 12 wo. However, if we maintain that a 272
770719 1R @°272, then even if it is 121 1% 7277 still 7707 12 PR, This indicates that
(in certain aspects) a 0°272 171 is stricter that 2°27 7"v, so how can M»dOIN say that if
a 77N 19 X 02712 171 then w5 by a 0% 7"y 971 that 70 1 PR

2. Based on the previous question; how can we attempt to possibly refute 19010
proof" from xmx 2"

? See “Thinking it over’ # 2.
10 See footnote # 2.
' See ax 11"7 'on 3,7 (TIE footnote # 27, 29).
"2 See 1"nx # 73-76.
13 See footnote # 9.
" See n"m.
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